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Question Number : 1 Question Id : 70819116864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

S
The period of oscillation of a simple pendulum is T =27 \/_ . Measured value of 'L" is 1.0 m
from meter scale having a minimum division of 1 mm and time of one complete oscillation is

1.95 s measured from stopwatch of 0.01 s resolution. The percentage error in the determination
of ‘g" will be :

Options :
70819155741, 1-33%

70819155742, 1-03%

e
70819155743, 1-13%

.
70819155744, 1-30%

Question Number : 1 Question Id : 70819116864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

L
Ul HIL SlAGBE Sle-dl Bl T=27\/E e, HAT A 1 mm T IFFeledl 9y guiH

‘L' 9 Aidleied ed 1.0 m 32 9 0.01 Hohs fqara A¥eiedl I Sauidl Sl Aldeiell THhl
Sl B 1.95 e e, ‘g AGHEl cabdNiile 2l .




Options :
70819155741, 1-33%

70819155742, 1:03%
70819155743, 1.13%

70819155744, 1.30%

Question Number : 2 Question Id : 70819116865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A particle is projected with velocity g along r-axis. A damping force is acting on the particle
which is proportional to the square of the distance from the origin i.e. ma= —ax?. The
distance at which the particle stops :

Options :
1

2[:3 2
3a
70819155745.

1
3(3{2} 2
2o
70819155746.

1

33% 3
2o
70819155747.




1
2(’{} \"]_3
3o )

Question Number : 2 Question Id : 70819116865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
T U x-HEMER v, I YEUT BTl 8. HUNGY BN IGHe] Sl Goarageal Siaxredl aid

TAURT 3E. WU ma= —ox>. W B ggar 9 3faw e,
Options :

1
3ex
70819155745.

70819155748.

70819155746.

70819155747.

1
[ 2 I]{} ]3
70819155748, \ 2%

Question Number : 3 Question Id : 70819116866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1




A circular hole of radius [—J is cut out of a circular disc of radius ‘a’ as shown in figure. The

centroid of the remaining circular portion with respect to point ‘0" will be :

A Y-axis

Options :

70819155749, ©

5

—a
70819155750, ©

—a
70819155751.

10

—a

70819155752, 11

Question Number : 3 Question Id : 70819116866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



ST SRR, ‘2’ Bea SR aEIER TS EJ BT SR TIFR A
HUel. ‘O fig Hewid Vel Ig@idR HFET 9L (centroid) I

Options :

70819155749, ©
5
—a

70819155750. ©

2

—a
70819155751, 9

10
fa
70819155752, 11

Question Number : 4 Question Id : 70819116867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



A body weighs 49 N on a spring balance at the north pole. What will be its weight recorded
on the same weighing machine, if it is shifted to the equator ?

GM .
[Use ¢ = Rj = 9.8 ms 2 and radius of earth, R = 6400 km.]

Options :

70819155753. LN

70819155754. o

70819155755. 4583 N

70819155756. IR

Question Number : 4 Question Id : 70819116867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

SY gdia¥ f&AT PIcay Tdhl axgd dud 49 N 8. WX o fdgdgdEy odel a¥ @@ duld

AT YTGX SRdfdetel 9o fdhdl el ?

GM
(@ueT - g = 2 = 98ms 2 g gedr=dl 5l R = 6400 km)

Options :
70819155753, 49.17 N

70819155754. o

70819155755, 48-83 N

70819155756, 1983 N



Question Number : 5 Question Id : 70819116868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f one mole of an ideal gas at (P,, V,) is allowed to expand reversibly and isothermally
(A to B) its pressure is reduced to one-half of the original pressure (see figure). This is followed
by a constant volume cooling till its pressure is reduced to one-fourth of the initial value
(B — C). Then it is restored to its initial state by a reversible adiabatic compression (C to A).
The net workdone by the gas is equal to :

Options :

RT | In2 :
2{y—1)
70819155757

RT
2(y — 1)

70819155758.

70819155759, RT'In 2

70819155760. 0



Question Number : 5 Question Id : 70819116868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TS Al S99 (P, V,) < WiieH 9 §HaE (A TR B) YERU UEUAN AT el )

YoTcicd] STEYEl gl =6 I el (bl Yal) THaR MR AHRAMN TN 39 $el bl =l

S goarirel Jena 1/4 94d $41 el (B — C). Fax a1 U@l gas |edeart (C IR

A) goare Redl wid gA¥aud $el. 91gH delel oo o/ S

Options :

70819155757.

70819155758.

70819155759, RT1n 2

70819155760, Y

Question Number : 6 Question Id : 70819116869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

On the basis of kinetic theory of gases, the gas exerls pressure because its molecules :



Options :
70819155761 continuously lose their energy tll it reaches wall.

70819155767, continuously stick to the walls of container.

70819155763 are attracted by the walls of container.

70819155764 suffer change in momentum when impinge on the walls of container.

Question Number : 6 Question Id : 70819116869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

I Tl fHgiarear sneg, 9 @ <A SR & Y]
Options :
70819155761, ad &Gl il IHTEET.

7081915576, edredl e #aa fadbedrd.

70819155763. S g eI

10819155764, oAl THEY Wl HYSHd de& HTid gee 2.

Question Number : 7 Question Id : 70819116870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



In the given figure, a body of mass M is held between two massless springs, on a smooth
inclined plane. The free ends of the springs are attached to firm supports. If each spring has
spring constant k, the frequency of oscillation of given body is :

Options :

1 k

E’l‘ Mg sina

70819155765.

1 2k

2 Mg sina
70819155766.

1 [k

2o Y M

70819155767.

1 | k
21 .VI 2M
70819155768.

Question Number : 7 Question Id : 70819116870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



feeicd @I, ol AT Adady M duiidied el M agaHEl 9] Sdeiell 318,

Options :

.1||A

27 | Mg sina
70819155765. i

1 2k

” I
70819155766, - | Mg sina

1 |2k

-
70819155767, =™ VM

1 | k

Ty
70819155768, 2T V2M

Question Number : 8 Question Id : 70819116871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



When a particle executes SHM, the nature of graphical representation of velocity as a function
of displacement is :

Options :
70819155769, circular

elliptical
70819155770.

parabolic
70819155771.

st‘raight line
70819155772.

Question Number : 8 Question Id : 70819116871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

W@l B WA HEd TG W, o=@ 9 9 faene amde deEe Wey IS
Options :

70819155772, TX® XHI

Question Number : 9 Question Id : 70819116872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the fnﬂowmg equations represents a travc-l[ing wave 7



Options :
= X sl i
70819155773, Y= Aetcos(wt —6)

-

e e :
70819155774, Y= ¢ (V1+0)

= Asi i
70819155775, ¥ = Asin(15x —21)

70819155776, 7 Asiny coswl

Question Number : 9 Question Id : 70819116872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Gleflelde! DIV FHIBROT WTHT TR Seifee?
Options :

iy=Ae*cos(w! — )
70819155773. -

-

N S o ’
70819155774, Y= A€~ (v1+0)

70819155775, ¥ = Asin(15x —21)

70819155776, ¥~ Asiny cosw!

Question Number : 10 Question Id : 70819116873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Two electrons each are fixed at a distance “2d". A third charge proton placed at the midpoint
is displaced slightly by a distance x (x << d) perpendicular to the line joining the two fixed
charges. Proton will execute simple harmonic motion having angular frequency :
(m = mass of charged particle)

Options :

1
¢ P
zTrEﬂ, m.rfj
70819155777.

e X
2% )2
TEQ md>
70819155778.

1
TEQ md> |2
2:}2
70819155779.

1

{ZTE{} md” ]E
qE

Question Number : 10 Question Id : 70819116873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

S Seldgd THHBIUNIT ‘24" 3TNIEaY Sdel ded. freR1 U9R UreiH, FefEgay Sda 9 S U4
SISV YTl daoy x (x << d) ScRIqA ATSHI Sellden. WelHd |¥a ddd Tdid Jisad d el
CARILECIEG B YA, (m = mass of charged particle)

Options :

70819155780.




g | =

2
i
( ETFE{], J'm'f:E ]
70819155777.

2
242 |2
weg md :
70819155778.

1
mwegmd® |2
b il
2q°
70819155779.

1

[ 27eg md” ]E
—e

q
70819155780.

Question Number : 11 Question Id : 70819116874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Figure shows a circuit that contains four identical resistors with resistance R=2.0 (1, two
identical inductors with inductance L=2.0 mH and an ideal battery with emf E=9 V. The
current 1" just after the switch 'S’ is closed will be :

i
2 R
+ T R § L
1
E=9 V] .
R
R
Options :
70819155781, 222 A
70819155782, >0 A
70819155783, 7 A

70819155784, 9 A

Question Number : 11 Question Id : 70819116874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



JMPpeilirel IRTATT R =2.0 ) I¥elel IR THARE Y, L=2.0 mH TRl el SF THARY
UR=1 9 E=9 V fdgd THd ¥ef 3¥ciell dedl o2, wdX JPdd d@ ‘'S § deil d¥ °RT i’

.
-
)
| R
+ R +
i
E =91..T "
R
Wi
R

Options :
70819155781, 229 A

70819155782, 3.0 A
70819155783, 3.37 A

70819155784, 9 A

Question Number : 12 Question Id : 70819116875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A soft ferrnmagnetic material is placed in an external magnetic field. The magnetic
domains :

Options :
70819155785 increase in size but no change in orientation.

70819155786. decrease in size and changes orientation.



70819155787, May increase or decrease in size and change its orientation.

70819155788, have no relation with external magnetic field.

Question Number : 12 Question Id : 70819116875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Uh 4% Bgaey Ueid e geaid &5 odoll. el SNl
Options :

20819155785, NPT TGl TUT feRmi-eera 9ae1 3rd .

70819155786. ardr 4 3

20819155787, PR dieel fbar & drder 9 e ger.

70819155788, STEd GADI AR Hrelel Hde e

Question Number : 13 Question Id : 70819116876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - IL
List - 1 List - II
(a) Source of microwave frequency (i) Radioactive decay of nucleus

(b) Source of infrared frequency (ii) Magnetron

(c) Source of Gamma Rays (iii) Inmer shell electrons

(d) Source of X-rays (iv) Vibration of atoms and molecules
(v) LASER

(vi) RC circuit
Choose the correct answer from the options given below :



Options :
70819155789, @F (Vi) (B)H(v), (c}-(D), (d)-(iv)

70819155790, @) (Vi) (b)(iv), (€)-(1), (d)}-(v)
20819155791, (@)-(E), (B)-(iv), ()-(1), (d)- (i)

70819155792, (@)-(ii), (b)-(iv), (c)-(vi), (d)-(iii)

Question Number : 13 Question Id : 70819116876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

&1 — 1 91 ) — 11 SRR it Sfosdl.

el — 1 el — 11
(a) VEHGNT ARG 9T (i) Hadral fHIUCEHN BN
(b) IEREd IRINGEl ST (i) HF=EH
(c) a1 fovum=n Sgm (iii) SAd¥bdd Soidg
(d) X-fHvum=Er S5T™ (iv) U 9 YUEl U
(v) @Y
(vi) RC uRug
el faetedn waigiqd ara v fHasr
Options :

70819155789 (@) (vi), (b)-(v), (c)}-(1), (d)-(iv)
70819155790. (a)-(vi), (b)-(iv), (c)-(i), (d)-(v)
70819155791, (@)-(i1), (b)-(iv), (c)}-(3), (d)-(iii)

70819155792, (@)-(ii), (b)-(iv), (¢)-(vi), (d)-(iii)



Question Number : 14 Question Id : 70819116877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f the source of light used in a Young’s double slit experiment is changed from red to violet :
Options :

70819155793, he fringes will become brighter.

70819155794 conseculive fringe lines will come closer.

70819155795, the intensity of minima will increase.

the central hright fringr_- will become a dark fringr:-.
70819155796.

Question Number : 14 Question Id : 70819116877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Options :

70819155793, F 0] gl M B

70819155794, © ! ATl STde ATiIe

70819155795, S1gudl Il diwed

70819155796, AEATANA A Sioeiy] Hlol Heold] Blsel

Question Number : 15 Question Id : 70819116878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

An X-ray tube is operated at 1.24 million volt. The shortest wavelength of the produced
pl‘mton will be :

Options :

1
70819155797, 107~ nm

0 2 nm

=

70819155798.

0-3 nm

=

70819155799.

04 nm

—

70819155800.

Question Number : 15 Question Id : 70819116878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

X-fepvur el 1.24 HeligA Slecell SRR Bld. TR Hlelcdl BIelaal egdd a¥ielid]
.
Options :

1
70819155797, 107 nm

70819155798, 1072 nm
3
70819155799, 10 7 nm

4
70819155800, 10~ * nm

Question Number : 16 Question Id : 70819116879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The de Bmglir_- wavc-lr_-ngﬂ\ of a proton and u-particle are r_-qual. The ratio of their velocities
15 :

Options :

70819155801, +:1

70819155802.

70819155803, 4

70819155804, 1 :4

Question Number : 16 Question Id : 70819116879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ul 9 o-pumEl S-drilell Tielidl WREE e, I 9 g Ui 318,
Options :
70819155801, 4 :

(==

-2

70819155802, 4 :

(5]

70819155803, 4 :

70819155804, 114

Question Number : 17 Question Id : 70819116880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

According to Bohr atom model, in which of the following transitions will the frequency be
maximum ?

Options :



70819155805, =2 to n=1

n=3ton=2

70819155806.
ik :3

70819155807, M F o N

70819155808, N2 o n=4

Question Number : 17 Question Id : 70819116880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

SIev=al U] Ui, Eefleidsd] DIl HhHUG dRaRdl de0d 38 7
Options :

:r} —
70819155805, '~ 2 Tk n=1

70819155806, =3 LT n=2
70819155807, N=4 TRLT n=3

70819155808, N=2 URT n=4

Question Number : 18 Question Id : 70819116881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Zener breakdown occurs in a p —n junction having p and n both :
Options :
70819155809, lightly doped and have narrow depletion layer.



70819155810. Iight[}-' dnped and have wide ::leple’rinn Ia}-'er.

70819155811 heavily doped and have narrow depletion layer.

heawvily dop ed and have wide dep letion laver.
70819155812. ’ )

Question Number : 18 Question Id : 70819116881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

p—n HE SRS B fa¥eq 2d Wl p 9 n 9
Options :
70819155809, Belh UelfUd $el 3Bd d mg [S@ieH Y s,

70819155810, Beld WellUd $el AEd d we [S@lleH WY e,
70819155811, eUUl WeilUd el 3e I Hg (SwilvH &Y e,

70819155812, el TeifUd del e d %e fe@eH WY 3E.

Question Number : 19 Question Id : 70819116882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement 1 : PN junction diodes can be used to function as transistor, simply by
connecting two diodes, back to back, which acts as the base terminal.

Statement 11 :  In the study of transistor, the amplification factor (§ indicates ratio of the
collector current to the base current.

In the light of the above statements, choose the correct answer from the options given below.

Options :



70819155813. Both Statement | and Statement Il are true

70819155814. Both Statement | and Statement Il are false

70819155815. Statement 1 is true but Statement Il is false

70819155816. Statement 1 is false but Statement 1l is true

Question Number : 19 Question Id : 70819116882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Gell 9 fagr ool 3med.

fauF 1: SM "oURY A TGMEH U6 39 Wigd, o Tordl SeeNE S/ S, PN
He TEE TERTY 9RY &R HYdad.

faum 11:  cidivex=a s, yadl quie 3 8 §9E R 9 SER 8gR1 g Ui 8.

e fagHiEgd, @ell fGeie vaiagd ard Sav fHael.

Options :

70819155813, 198 1 @ faem= 11 S8 a¥Ex a7red.

70819155814, 199 1 9 T8 11 5781 9% e,

70810155815, 19GM 1 SRTER e WO faur 11 g% oe.

70819155816, 198 1 G 3M& T0T faer= 1 aRIeR 3.

Question Number : 20 Question Id : 70819116883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



>o0—o0 C

The logic circuit shown above is equivalent to :

Options :

S
C

70819155817, B
Ao—>0— _
o—o C

70819155818, B °©
T
70819155819, B ° |
T e
C

B

Question Number : 20 Question Id : 70819116883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A
>o—o0 C
B

a0 b N uNu"
Options :

70819155820

AT T M.



D
70819155817, B

Ao—{>0 -
o—o C
70819155818, BO——

[_.

70819155820.
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Question Number : 21 Question Id : 70819116884 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



Two solids A and B of mass 1 kg and 2 kg respectivc-ly are moving with equal linear

A
momentum. The ratio of their kinetic energies (K.E.), : (K.E.); will be 1% the value of

A will be

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 21 Question Id : 70819116884 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

S 99 A 9 B 3P I&AH 1 kg 9 2 kg 3¥elel ARG YT Hd— R 3med.  i=m

TR St R (TR o) (RS o)y ¥ o o A ¥ .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 22 Question Id : 70819116885 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A uniform metallic wire is elongated by (.04 m when subjected to a linear force F. The
elongation, if its length and diameter is doubled and subjected to the same force will be
cm.



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 22 Question Id : 70819116885 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

THHHAN UGl GRaY F Ude Y e ddel d@1 O 0.04 m - 916 Heil. R Wded g <lda
d WrE <fidl 4 I SFUe $efl ¥ & 9l cm 3.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 23 Question Id : 70819116886 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A uniform thin bar of mass 6 kg and length 2.4 meter is bent to make an equilateral hexagon.

The moment of inertia about an axis passing through the centre of mass and perpendicular
to the plane of hexagon is x10~ 1 kg m?.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 23 Question Id : 70819116886 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
6 kg IRGAM 9 2.4 m AGI TSI NI TSN T ARG y] I¥eicll YchH TR
Hell. eHHl Jaa™ dawy 9 9] SEiqd Sfvmgdl JEmHad e STgu
%10~ T kg m2 38.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Question Number : 24 Question Id : 70819116887 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The root mean square speed of molecules of a given mass of a gas at 27°C and 1 atmosphere
pressure is 200 ms~!. The root mean square speed of molecules of the gas at 127°C and

2 atmosphere pressure is ﬁ ms 1. The value of x willbe ;
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :
5t05.001

Question Number : 24 Question Id : 70819116887 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



27°C AIAMN 9 1 9Imaxvnciel S faeiedl arzal aeqarTal XuEl 99 JIe 9o 91

200 ms ! &M@, 127°C 9 2 ARV SEr=dl dig=dl XU a1 q1eg 9o 9T Lr ms~ 1 3TE.
33

x 9l 3.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 25 Question Id : 70819116888 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Two cars are approaching each other at an equal speed of 7.2 km/hr. When they see each
other, both blow horns having frequency of 676 Hz. The beat frequency heard by each driver
will be Hz. [Velocity of sound in air is 340 m/s.]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 25 Question Id : 70819116888 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



S ST 7.2 km/hr 9FH UHHBIEANR Ud AMEd. @ Wil THHGE UM, d&l 676 Hz
dRARddl HI defdded.  Wd dieidH Udhdal 98 dRdRdl ___ Hz 3¥«.
(Bdeilel &l 97 340 m/s 373)

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 26 Question Id : 70819116889 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A point charge of +12 puC is at a distance 6 cm vertically above the centre of a square of side

12 em as shown in fi%urc-. The magnitude of the electric flux through the square will be
x 10° Nm?2/C.

*+q

b
%

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5t05.001

Question Number : 26 Question Id : 70819116889 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

TP SRATTSTTATI, 12 cm To], 3Tl ISR HEIURT 6 cm 9 FARET +12 uC =1
figuaR &, diemga = fagd sfyard fead %10 Nm2/C e,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 27 Question Id : 70819116890 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A cylindrical wire of radius 0.5 mm and conductivity 5x 107 S/m is subjected to an electric
field of 10 mV/m. The expected value of current in the wire will be 2 mA. The value of x
15

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 27 Question Id : 70819116890 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0.5 mm Rl g 5% 107 S/ m dREHdl 3Helall TodSINRE TR 10 mV/m Tde fdg[d &=
odefl. Al UTET 9D o YrmA WSl x I Hed 3Te.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 28 Question Id : 70819116891 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A series LCR circuit is designed to resonate at an angular frequency w,=10° rad/s. The
circuit draws 16 W power from 120 V source at resonance. The value of resistance ‘R’ in the
circuit is (1.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 28 Question Id : 70819116891 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
wo =10 rad/s INERG- W BUIMEGT Thalel LCR URTY TOR dell. TRUY HEET
120 =lec SFMERT 16 d¢ Fawl Ud. URUIRIA ‘R° o o0 _ O e,

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 29 Question Id : 70819116892 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

An electromagnetic wave of frequency 3 GHz enters a dielectric medium of relative electric
permittivity 2.25 from vacuum. The wavelength of this wave in that medium will be
%10~ 2 cm.,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 29 Question Id : 70819116892 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

fHafarge 2.25 Hie fagd Uil s¥eiedl Wifdeld A1Egdd 3 GHz dRdRddl fagld guaE a3
fRT e, 1 HIEEE aXE aeTerdr X107 %2 cm I¥a.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 30 Question Id : 70819116893 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A signal of 0.1 kW is transmitted in a cable. The attenuation of cable is —5 dB per km and
cable length is 20 km. The power received at receiver is 10~ * W. The value of x is

P
[Gain in dB=10 log,,| —

B ) ]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 30 Question Id : 70819116893 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0.1 kW 91 Hhd haaqgd URMT e, Hacid &0 T fheMicxde! —5 dB 38 9 ddeidl

ofidl 20 km 318, TS fHofderedl oekil 107* W 38 @ x d Jod 3Te.
o)
[Gain in dB=10 Iogm[i 1
F; )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText
Possible Answers :

510 5.001

Chemistry Section A
Section Id : 708191666
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191946
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819116894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



According to Bohr's atomic theory :

2
(A) Kinetic energy of electron is o Z_

112

(B) The product of velocity (v) of electron and principal quantum number (n),
‘v x 72,

3
(C) Frequency of revolution of electron in an orbit is = Z_,i
n

3

(D) Coulombic force of attraction on the electron is = —-
n

Choose the most appropriate answer from the options given below :
Options :
70819155831, (A)- (€) and (D) only

70819155832, (AA) and (D) only

70819155833, (€) only

70819155834, (44 only

Question Number : 31 Question Id : 70819116894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



W= spEe e Mgiarar

(A) TR R e . 2

n-

(B) Seidgdl Tl (v) 30T YW ddicH 3P (n) il OISR ‘vn' = Z2

i
(C) TomE TR e AR « 2
n

3
(D) TewET adiel AU gl e o« L

n

Glellel THFiFYd aRER JoxEl [ e
Options :
70819155831, V) (©). (D)

70819155832, (A) ST (D) ®ad

70819155833, () @I

70819155834, (A4) PHd

Question Number : 32 Question Id : 70819116895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct shape and I I I bond angles respectively in I; ion are :
Options :

70819155835, Linear; 180°



i i v E . qr O 1
70819155836, Distorted mgnnal pla_nar, 135° and 90

70819155837, 1-shaped; 180° and 90°

Trigonal planar; 120°
70819155838.

Question Number : 32 Question Id : 70819116895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

I, JEAA SRS ABR M [-1-1 A6 B dH e
Options :
70819155835, 1. 180°

70819155836. qErSeiell Yaeild Tr-er, 135° 31 90°

20819155837, 1-SPIREI, 180° i1 90°

20819155838, T TR, 120°

Question Number : 33 Question Id : 70819116896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Most suitable salt which can be used for efficient clotting of blood will be :
Options :

NaHCO,
70819155839. :

70819155840, M8(HCO3)2



70819155841, eCla

70819155842, 104

Question Number : 33 Question Id : 70819116896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Options :

NaHCO;4
70819155839, :

70819155840, MB(HCO3)2

70819155841, FeCla

70819155842, 1601

Question Number : 34 Question Id : 70819116897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct set from the following in which both pairs are in correct order of melting point
is :

Options :
70819155843, HiC1 > LiF; MgO > NaCl

70819155844, HF > LiCl; MgO > NaCl



70819155845, HCl > LiF ; NaCl > MgO

LiF > Li(1 ; NaCl > MgO
70819155846.

Question Number : 34 Question Id : 70819116897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Glellel YAy aRiaY ¥e Has] WId S8 Wieel Sdulidral sRay $H Seiddrd.
Options :

70819155843, LiC1 > LiF ; MgO > NaCl

70819155844, LiF > LiCl; MgO > NaCl

20819155845, LCl > LiF ; NaCl > MgO

LiF > Li(1 ; NaCl > MgO
70819155846.

Question Number : 35 Question Id : 70819116898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - IL

List - 1 List - 11
(Metal) (Ores)
(a) Aluminium (i) Siderite
(b) Iron (ii) Calamine
(c) Copper (iii) Kaolinite
(d) Zinc (iv) Malachite

Choose the correct answer from the options given below :



Options :
70819155847, (@)-(1), (b)-(ii), (c)-(iii), (d)-(iv}

70819155848, (@)-(1v), (b)-(iit), (c)-(i1), (d)-(i)

70819155849, (@)-(i), (b)-(iv), (c)-(1), (d)-(iii)

70819155850, (@-(i), (b)-(i), (¢)-(iv), (d)-(ii)

Question Number : 35 Question Id : 70819116898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Tl 1 AT 11 9R7EY Sl
Tl | I 11
(urg) (eg®)
(a) STgMAFTa™ (i fasvEe
(b) @@ (ii) DHIATATSA
(c) i (ii) PIATATET
(d) o= (iv) HorEEe
Gleile] YOy a_16) S 9l
Options :

70819155847, (@)-(1), (b)-(ii), (c)-(iii), (d)-(iv)
70819155848, (@)-(1v), (b)-(iii), (c)-(ii), (d)-(i)

70819155849, (@)-(i), (b)-(iv), (c)}-(1), (d)-(iii)



70819155850, (@)({i), (B)~(1), (c)-(iv), (d)(ii)

Question Number : 36 Question Id : 70819116899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A : Hydrogen is the most abundant element in the Universe, but it is not the
most abundant gas in the troposphere.
Reason R : Hydrogen is the lightest element.

In the light of the above statements, choose the correct answer from the options given
below :

Options :
70819155851, Both A and R are true and R is the correct explanation of A

70819155852, Both A and R are true but R is NOT the correct explanation of A

70819155853, ‘v 18 true but R is false

70819155854, A 15 false but R is true

Question Number : 36 Question Id : 70819116899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Glell aF f99M faefell 3med, Ue faum A sl Y $RUI R 6.

faum A: SISO 8 [9dd |ieodrd W ATeaVik Heiadd 38, U SUNGITAE] d |
N JTEHUIRT a1 Tel,

BRUI R : BTG Hodld i Jeiged 8.

el faeredn fAuMgER, el TaRmgd a_EaY 908 9.



Options :

Sl A 0T R §RMEY 3éd 9 R 8 A o SXEY WCIhv e,
70819155851.

70819155850, SFel A 30T R &RTEY 3Ted WY R € A I SRIER WECHRUT &

70819155853, A TSN 3E WG R g 3Hle.

70819155854, A P 3MME T R TREX 3TE.

Question Number : 37 Question Id : 70819116900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - IL

List - 1 List - 11
(Salt) (Flame colour wavelength)
(a) LiCl (i) 455.5 nm
(b) NaCl (ii) 670.8 nm
(c) RbCl (i) 780.0 nm
(d) GsCl (iv) 589.2 nm

Choose the correct answer from the options given below :
Options :
70819155855, (@) (V). (b)-(i1), (c)-(iii), (d)-(1)

70819155856, (@)-(ii), (b)-(iv), (c)-(iii), (d)-(i)
20819155857 @), B)-(v), (©)-(i), (d)-(ii)

70819155858, (@)-(id), (b)-(i), (c)-(iv), (d)-(iii)



Question Number : 37 Question Id : 70819116900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ST 1 TS 1 S¥EY ol
ey 1 are 11
(Hg/aR) (SO T AR )
(a) LiCl (i)  455.5 nm
(b) NaCl (ii) 670.8 nm
() RbCl (iii)  780.0 nm
(d) CsCl (iv) 589.2 nm

Eeflel GIgiFgT a¥e] ST 9.

Options :
70819155855, (@) (Iv), (b)-(ii), (c)-(iii), (d)-(i)

70819155856, (@)-(i1), (b)-(iv), (c)-(iii), (d)-(i)
70819155857, (@), (0)-(iv), (€)-(i), (d)-(iii)

70819155858, (@)-(11), (b)-(1). (c)-(iv), (d)-(iii)

Question Number : 38 Question Id : 70819116901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The incorrect statement among the following is :
Options :

Ti * ¥
70819155859, ¥ 004 15 a reducing agent



70819155860, RuD4 is an oxidizing agent

70819155861 Cr,0; is an amphoteric oxide

7 i ~3 4
70819155862 Red colour of ruby is due to the presence of Co

Question Number : 38 Question Id : 70819116901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

deilelds] go fagm 3w,

Options :

T
20819155850, VOSO, € &UPRS 38

RuO, ¥ JfracidrNe 3
70819155860.

70819155861, 1203 & gl Sievss ame

H ﬂEﬁ T I ~_ 3+
70819155862. Al ¥ Co?t =T JuReRiges e

Question Number : 39 Question Id : 70819116902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What is the correct order of the following elements with respect to their density ?
Options :

70819155863, —f <Fe<Co<Cu<Zn



70819155864, Zn < Cr < Fe < Co < Cu

70819155865, 2N <Cu<Co <Fe<Cr

70819155866. Cr < Zn < Co < Cu < Fe

Question Number : 39 Question Id : 70819116902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

el UHigHe] Jeiaediel Bdidl aXEy $H Adeicl] Udid HIUE ?
Options :

70819155863, —f <Fe<Co<Cu<Zn

70819155864, Zn < Cr < Fe < Co < Cu

70819155865, £ <Cu<Co <Fe<Cr

70819155866, Cr < Zn < Co <Cu < Fe

Question Number : 40 Question Id : 70819116903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The calculated magnetic moments (spin only value) for species [FeCl, Iz =, [Co(C504) I;,-, L

and M“Di_ rc-spc-c’rivc-l}-' are !

Options :

70819155867. +90. 0 and 1.73 BM

70819155868, O-92, 4.90 and 0 BM



70819155869, 2-82, 0 and 0 BM

70819155870, 90, 0 and 2.83 BM

Question Number : 40 Question Id : 70819116903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

'[Fe«::l‘4 . '[{:n({:zqi )12 T ﬁlnD? 2l UGl VE dhoicdl gadid Aguiedl fbad
(V9 ®aw) gy 3E.
Options :

70819155867, 90, 0 ST 1.73 BM

70819155868, > > +90 ST 0 BM

70819155869, 352 0 0T 0 BM

490, 0 30T 2.83 BM
70819155870.

Question Number : 41 Question Id : 70819116904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement I : The value of the parameter “Biochemical Oxygen Demand (BOD)" is
important for survival of aquatic life.

Statement Il : The optimum value of BOD is 6.5 ppm.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :



70819155871 Both Statement | and Statement Il are true

70819155872. Both Statement I and Statement 11 are false

70819155873 Statement 1 is true but Statement 1l is false

70819155874, Statement 1 is false but Statement 1l is true

Question Number : 41 Question Id : 70819116904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Gleil 5 fau™ feefell 3ed.

faum 1:  SRrEfe el IR (BOD) &Ml f&Ha Seild Siiai=dl Svamre! Jadr]
e

faur [1: BOD = $igaad f6ad 6.5 ppm e,
e REFAT e, Eele T a_ER Se) 9.
Options :

20810155871, e e I 30T 11 SRR Sfret.

70819155872, S0l 198 1 ST 11 GHT Sfre.

70819155873, fag 1| ¥R 3 WY fau 11 g 3.

20819155874, 198 1 FOId 38 WY fagM 1l SRR 3e.

Question Number : 42 Question Id : 70819116905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The diazonium salt of which of the following compounds will form a coloured dye on reaction
with -Naphthol in NaOH ?

Options :
@/NH2
70819155875.
CHEI“«]H2
70819155876. @/
@/[\'1 I—CHj3

e

Question Number : 42 Question Id : 70819116905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Greflaita! SOl = S &RE NaOH A& p--Toeilel aRex fHafhar Fell s
M ¥9d TR Asd 7
Options :

70819155877.

70819155878.




@/NH
70819155875.
CH,NH,
70819155876. @/

NH—CHs
70819155877.

—CH;

C}{3
70819155878, ::

Question Number : 43 Question Id : 70819116906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the following compounds is non-aromatic ?

(]

70819155879. O

Options :

&

70819155880, ©



70819155881. :
70819155882. I I I

Question Number : 43 Question Id : 70819116906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Glelicy®! JRFCId TRictel §gT DIV S ?

Options :
|

70819155879. O

70819155880.

&

®
70819155881. :
70819155882. I I I

Question Number : 44 Question Id : 70819116907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Which one of the [ ollnwing carlmn}-'l compounds cannol be prepared ‘m, addition of water
on an alkyne in the presence of HgSO, and H,50, ?

Options :

O
|

70819155883, iz~ C—H
;
|
—c—CH-CH
70819155884, 113~ € 2413

i

O
I
CH;—CH,—C—H

70819155885.

70819155886.

Question Number : 44 Question Id : 70819116907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Gefleiu®! DIV DrEmel WgT & HgSO, &M H,SO, =1 SUReRit Sehs-Hed Uil TIg-

IR Yl YU el ?

Options :
S
70819155883, iz~ ¢ H
e

[l
—C—CH»CH
70819155884, “113 © 2113



O

Il
70819155885.

O

|
CH;-CH,-C-H
70819155886. 5t

Question Number : 45 Question Id : 70819116908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct order of the following compounds showing increasing tendency towards
nucleophilic substitution reaction is :

Cl Cl Cl -
NO,  NO, NO,
(1) (ii) (iii) (iv)

Options :

70819155887, V) < (i) < (i) < (i)

70819155888, (V) < (1) < (iii) < (ii)
70819155889, 1) < (if) < (iii) < (iv)

70819155890, V) < (1) < (i) < (i)



Question Number : 45 Question Id : 70819116908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Serbdl Gide Al Wieilel WAl dleedl TdEl 9 38,
Cl
Cl Cl Cl O.N NO-
NO, ) s
NO, NO, NO2
(i) (ii) (iii) (iv)

Options :

70819155887, V) < (i) < (i) < (i)

70819155888, (V) < (1) < (iii) < (ii)
70819155889, 1) < (if) < (iii) < (iv)

70819155890, (V) < (1) < (i) < (iii)

Question Number : 46 Question Id : 70819116909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



O

Which of the following reagent is suitable for the preparation of the product in the above
reaction ?

Options :

NaBH,
70819155891.

o@

70819155892, V2~ NH»/CH50Na
70819155893, o/ Ha

Red P +Cl,
70819155894 2

Question Number : 46 Question Id : 70819116909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

-

NIl AHBFIAST TSI AMURHITHRS HIVCT e 7
Options :



70819155891, TVaBHy

5@
NH,— NH,/C,H=ONz
70819155892. 2 2/ CoH5ONa

70819155893, T/ Ha

oflel P+ Cl,
70819155894. &

Question Number : 47 Question Id : 70819116910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What is the correct sequence of reagents used for converting nitrobenzene into
m-dibromobenzene ?

N':.]z Br

Br

Sn/HCl / KBr / Br, / H+

- - - -
NaNO, / HCl / KBr / H*

s - t o :

Options :

70819155895.

70819155896.



Sn/HCI NaNO, / NaBr _

e
70819155897.

Br,/Fe p/gnﬂ 1L'lh/ NaNO,/HCI ;/CuBrIHBr e
70819155898.

Question Number : 47 Question Id : 70819116910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ARCEEAT  m-SdAEEFEE] WOy HIvAEe] AfHfGAeREGIdar Sl HH g3E] B 7

NOE BI'
- b o o
Br
Options :
Sn/HCI / KBr / Bl‘g / H*
r o r P~ o
70819155895.
NaNO, / HCl / KBr / H*
: r r o r
70819155896.

Sn/HCI / Br, / NaNO, / NaBr
- 5o - -

70819155897.



Br,/Fe F/Snﬂ 1(_1"/ NaNO,/HClI ;/CuBr,fHBr e
70819155898.

Question Number : 48 Question Id : 70819116911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In polymer Buna-5 : °S’ stands for :
Options :

70819155899, Sulphur

70819155900, Strength

70819155901, Styrene

70819155902, Sulphonation

Question Number : 48 Question Id : 70819116911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A-S & dgaieria ‘S W

Options :

70819155899, TP

70819155900,

70819155901, ‘© IR

70819155902. JRNE



Question Number : 49 Question Id : 70819116912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Match List - I and List - 11.
List - 1 List - 11
i)  Antifertility drug
ii) Pernicious anaemia

(a) Valium

(b) Morphine

(c) Norethindrone
(d) Vitamin B,
Options :

70819155903, (@)-(1), (b)-(iii), (c)~(iv), (d)-(ii)

iii) Analgesic
iv) Tranquilizer

70819155904, (@)-(1v), (b)-(iii), (c)-(it), (d)-(1)
70819155905, (@)-(1v), (b)-(iii), (c)-(i), (d)-(ii)

70819155906, (@)1, (b)-(iv), (c)-(it), (d)-(1)

Question Number : 49 Question Id : 70819116912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

IS 1 aret 11 ¥ ol
AT 1 A& 11
(a) wfersm (i) TomEad Ao dmy (SFEmeieed)
(b) HIfh (i) ORI SRl
(c) HRufRIgE (iii) dEATITHE
(d) f=&cfE B, (iv) Uena®



Options :
70819155903, (@)-(1), (b)-(iii), (c)-(iv), (d)-(ii)

70819155904, (@)-(iv), (b)-(iii), (c)-(ii), (d)-(i)
70819155905, (@-(1v), (b)~(iii), (c)-(i). (d)-(ii)
70819155906, (@)-(1), (b)-(iv), (c)-(ii), (d)-(1)

Question Number : 50 Question Id : 70819116913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - 1 and List - IL

List - 1 List - 11
O
I
(a) R—C—-Cl »>R—CHO (i  Br,/NaOH
(by ~R—CH,—COOH — R—f.l“_I 1-COOH (i) H,/Pd-BaSO,
Cl
O
Il
(c) R—C—-NH; =+ R—-NH; (i) Zn(Hg)/Conc. HC1
O
I
(d) R—C—-CH3y - R—CH,—CH,4 (v) ,/RedP, H,O

Choose the correct answer from the options given below :

Options :



70819155907, (@)-(ii), (b)-(iv), (c)-(1), (d)-(i)
70819155908, (@)-(ii1), (b)-(1), (c)-(iv), (d)-(ii)
70819155909, (@)-(L), (b)-(1), (c)-(iv), (d)-(iii)
70819155910, @)(i), (b)-(1v), (c)-(1), (d)-(ii1)

Question Number : 50 Question Id : 70819116913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

&1 1 1€ 11 ¥ Sl
Il BB
0
I :
(a) R—C—Cl—»R—CHO (1) Br,/NaOH
(b) R—CHQ—CDDH—H{—ClII{—CDDH (i) H,/Pd— BaSO,
Cl
O
I
(c) R—C—NH,—R - N, (i) Zn(Hg)/<g HCl
0
I
(d) R—C—CH3 — R—CH,—CH, (iv) Cl,/<re P, 9o

Gleflel GIgHY a¥1E) 9o} 9.

Options :



70819155907, (@)-(ii), (b)-(iv), (c)-(i), (d)-(ii)
70819155908, (@)-(iii), (b)-(1), (c)-(iv), (d)-(i1)
70819155909, (@)-(i), (P)-(1), (c)-(iv), (d)-(iii)

70819155910, @-(H), (b)-(tv), (c)-(1), (d)-(iii)

Chemistry Section B

Section Id : 708191667
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191947
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819116914 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The formula of a gaseous hydrocarbon which requires 6 times of its own volume of O, for
complete oxidation and produces 4 times its own volume of CO, is C IHH. The value of y is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 51 Question Id : 70819116914 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

UHl AYHU SASIBIET G, STl 21 ASRAFRI 6 IS Sifedord W0 Sqe-re! arfA
T 4 I W= AGRAAA CO, TR 8l d CH, M. y ai fdaa ____ 3TE.

I e

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 52 Question Id : 70819116915 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The volume occupied by 4.75 g of acetylene gas at 50°C and 740 mmHg pressure is
. L. (Rounded off to the nearest integer)

[Given R=0.0826 L atm K~ mol ~1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 52 Question Id : 70819116915 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

475 99 df¥cEfad 9 50°C dMHAMTEN 3MMfT 740 mm Hg S@el L 3MNAH
gl
(Sacs=a quitepld) [faetel 8@ R=0.0826 L atm K~ ! mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 53 Question Id : 70819116916 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Assuming ideal behaviour, the magnitude of log K for the following reaction at 25°C is
x %1071, The value of x is _ . (Integer answer)

[Given : A /G°(HC=CH)= —2.04 x 10°] mol 1 ; AG(CgHg)= —1.24 X 10° ] mol~1;
R=8314 ] K~ mol~1] "

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 53 Question Id : 70819116916 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



el AFU[E WAYA 25°C AIHHTAl Eiellal AR ISl log K @1 fbAd vx 101 ams.
Wadfeag __ SiE

JHC=CHgn=—— CeHg(za)

[feeier ame : A G°(HC=CH) = —2.04 x10°] mol ~!; A G*(C;H,) = —1.24 x10° ] mol ! ;
R=8314 ] K~ T mol | i

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 54 Question Id : 70819116917 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

CgHg, freezes at 5.5°C. The temperature at which a solution of 10 g of C;H,;; in 200 g of C.H
freeze is __"C. (The molal freezing point depression constant of C H; is

5.12°C/m.)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 54 Question Id : 70819116917 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



C.H, & 5.5°C o ed. 200 99 C.H, #ed 10 39 C,H,, ®del 39al & w@9 °C AHier febeil
AR Moed ? (CH, 9ol Aiedel F=aaarl fferie 5.12°C/m 3718)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 55 Question Id : 70819116918 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
The solubility product of Pbl, is 8.0 < 10 ® The solubility of lead iodide in (.1 molar solution

of lead nitrate is x x 10~6 mol/L. The value of x is . (Rounded off to the nearest
integer)

[Given \/’: = 1.41]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 55 Question Id : 70819116918 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



PblL, WISl STaUiIal o Hel 8.0 x 107 3ME. 0.1 Ao ofs Tlgcdl SEvkiel ofs Arsgsdl
FIUEl <10 " mol/L 3 @Y x o1 fua e, (Sidel QUlidT)

[freer ams 2 = 1.41]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 56 Question Id : 70819116919 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
The magnitude of the change in oxidising power of the MnO / MnZ* couple is xx 1071V,

if the H* concentration is decreased from 1 M to 10~ 4 M at 25°C. (Assume concentration of

: - 2+ : ; :
MnO,4 and Mn~" to be same on change in H" concentration). The value of x is

(Rounded off to the nearest integer)
I 2303 RT
{{_%ivfrn - ¥ = U_[EU]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 56 Question Id : 70819116919 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

MnO, /Mn?" 91 3iffeed ol WX HY 3mardr wedl 1 M URE 104 M T85! &9 $ell 7%

.[“~.111C]'4_ / Mn2+ & TN 25°C & JfaSiaRe wal xx 101V 3091 g5ad 9 x 91 feaa
IS

(FAST MnO, afT )2+ i dedt HY <adean 9ear @ Yad)

( tpTeT) [forer o 2.3{11?1{’{ — 0.059 ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 57 Question Id : 70819116920 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Sucrose hydrolyses in acid solution into glucose and fructose following first order rate law
with a half-life of 3.33 h at 25°C. After 9 h, the fraction of sucrose remaining is . The value

1
of Iﬂgm[?] is %1072, (Rounded off to the nearest integer)

[Assume : In 10=2.303, In 2=0.693]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

5t05.001

Question Number : 57 Question Id : 70819116920 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

T DTS Tl FMEAER Aredl S1auk ol faee 2ig To@id 9 Pacid qar 2,

: : e . 1
=T AEGHTA 3.33 TN 25°C UM 3. 9 dHa golodl Rleeis 39 [ . Iogm[F]

ERCEE x1072 32, (Wdedl QUie) [WHWl In 10=2.303, In 2=0.693 ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 58 Question Id : 70819116921 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Among, the following allotropic forms of sulphur, the number of allotropic forms, which will
show paramagnetism 1s _

(A) a-sulphur (B) p-sulphur (C) S,-form

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 58 Question Id : 70819116921 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Gleflel TSeiedl Wehy=dl ATGUUS] o HAgEiedd arEddd Jedidl e B |-
(A) o-FEHY (B) p-9EBY (C) S, ®iH

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 59 Question Id : 70819116922 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The total number of amines among the following which can be synthesized by Gabriel
synthesis is _

CH3z
CHs

CHy—NHj NH,
© ©/ D) ©/

Response Type : Numeric

CH—CHy—NH»> (B) CH,CH,NH,

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 59 Question Id : 70819116922 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

el HeATUNGA Eelld fSeledl 3FE-auS] TRl _ 3HEE TR HYdl Udle.
CHjy . o bl
(A)  Ch CH—CH—NH (B) CH,CH,NH,

CHy—NH> NH,
© ©/ (D) ©/

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 60 Question Id : 70819116923 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1.86 g of aniline completely reacts to form acetanilide. 10% of the product is lost durinﬁ
purification. Amount of acetanilide obtained after purification (in g) is o |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 60 Question Id : 70819116923 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1.86 U9 SAfTeir=a Ul AHRHI-OY AMCieEs TR Hel. FgIbeond 10% IdE S e,
IOV fiderel dffeierss __ x1072 g 3.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Mathematics Section A
Section Id : 708191668
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191948
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819116924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Let a, beR. If the mirror image of the point P(a, 6, 9) with respect to the line

a

=g g2
s = 9 is (20, b, —a—9), then |a+b]| is equal to:

|
wn

Options :
70819155921, 84

70819155922, 86

70819155923, 88

70819155924. 920

Question Number : 61 Question Id : 70819116924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

g—id 2 A | . :
AT a, beR, » = e L 5 o 9 T Y= WA (with respect to) 785 P(a, 6, 9) T
/
ARIMITA URIET (mirror image) (20, b, —a—9) &, T |a+b| TR 3.
Options :

70819155921, 84
70819155922, 86
70819155923, 88

70819155924, 0

Question Number : 62 Question Id : 70819116925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Let a, b, ¢ be in arithmetic progression. Let the centroid of the triangle with vertices

i 7
(a, c), (2, b) and (a, b) be [T, %J If a, B are the roots of the equation ax®+bx+1=0, then
the value of a2+ B2—ap is :
Options :
6
70819155925, 20
7
70819155926, 220
)
70819155927. 236
n
70819155928. o0

Question Number : 62 Question Id : 70819116925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
WHGI a, b, ¢ T HEl (A, P.) A 3{1&d. 9 (a, c), (2, b) 3T (a, b) RRIfdg srqom=ar ey

U$% (centroid) [%ﬂ %J dE. WX o, BB axZ+bx+1=0 I FHHME o5 JTAA X
o2+ B2—af I YO e,

Options :



=
70819155925, =20
71
70819155926, =20
69
=
70819155927, =20
:
=
70819155928, =0

Question Number : 63 Question Id : 70819116926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If P is a point on the parabola 1;:,1'3 +4 which is closest to the straight line y=4x —1, then
the co-ordinates of P are :

Options :

(3, 13)
70819155929.

.
70819155930. (2 8)

(=2, 8)
7081915593 1.

70819155932, (1 )

Question Number : 63 Question Id : 70819116926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



S y=x2+4 T I (parabola) T4l P &g 3 M1 d1 y=4x— 1 T F¥d VWD (closest)
3Me. WX P° 9@ (co-ordinates) e,

Options :

(3, 13)
70819155929.

70819155930. (2 8)

(=2, 8)
7081915593 1.

70819155932. (1, 3)

Question Number : 64 Question Id : 70819116927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For which of the following curves, the line x \Ey = Eﬁ is the tangent at the point

:£.2)

2 2
Options :

70819155933.

x<+9
70819155934.

2x2—-18y?=9
70819155936.



Question Number : 64 Question Id : 70819116927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

it W31

Gleil fEeiedn Sl o ( y P ;] 1 figEdia Preeredt X0 x + B3y = 24/3 9 |l

e ?
Options :

]
=]

70819155933.

x2 + Qyz =9
70819155934

1

2_ —x

l,f‘ = E |I'_
70819155935, 6v3

2x2—-18y?=9
70819155936.

Question Number : 65 Question Id : 70819116928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3

The value of the integral, j[xz 2x —2|dx, where [x] denotes the greatest integer less than
1

or equal to x, is :

Options :

70819155937, °

70819155938, 4



V2 -3 -1

70819155939.

2 -3 +1

70819155940.

Question Number : 65 Question Id : 70819116928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3
J[IE 2x—2]dx, & QUIGT (integral) ¥ e 3M&. Wiedl [x] © x fbar wmen e
1
Ao QUiid Seifad.
Options :
70819155937, 5
70819155938, 4
2
70819155030, N2 mB
2 3+ 1
70819155940. V2 - V3

Question Number : 66 Question Id : 70819116929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The negation of the statement
~pa(pvq)is:
Options :
70819155941, ~ P4



— FA
70819155942. P~

AT
70819155943. Stae

70819155944, P~ 4

Question Number : 66 Question Id : 70819116929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
~pa(pvq) IEEIGIERRGELl (negation) e,

Options :
70819155941, ~ P ¥ 4

70819155942,

70819155943.

70819155944, P/~ 4

Question Number : 67 Question Id : 70819116930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let A and B be 3 X3 real matrices such that A is symmetric matrix and B is skew-symmetric
matrix. Then the system of linear equations (A?B?>—B2A2) X=0, where X is a 3x 1 column
matrix of unknown variables and O is a 3 X1 null matrix, has :

Options :

70819155945, 1O solution



70819155946, 2 Unique solution

70819155947, exact[}-' two solutions

70819155948, infinitely many solutions

Question Number : 67 Question Id : 70819116930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

HHG A ST BE 3 x3 dad ¥NUIT (real matrices) 3T&d. S &I A FAMT GRUN (symmetric
matrix) 3TE 30T B 998 HAMT FRUT (skew-symmetric matrix) 3. S X & G TAR
(unknown variables) 3 x 1 TY WXV (column matrix) 3M& T O & 3 x 1 LT AR (null
matrix) 3ME. ¥ (AZB2—-B2A2) X=0 1 VT TSIV (linear equations) HIRUT
e

Options :

70819155945, S2Q Taeiell (no solution)

THHd IFdA (a unique solution) el
70819155946, g )

GYIgY S 9dhell (exactly two solutions)
70819155947. :

70819155948, 19 9§ Sbedl (infinitely many solutions)

Question Number : 68 Question Id : 70819116931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Let f(x) be a differentiable function defined on [0, 2] such that f'(x)=f"(2—x) for all
x e (0,2), f(0)=1and f(2)= e2. Then the value of jﬂx} dxis:

LU
Options :

o
70819155949, 1 — €~

2
70819155950, 1 T €

o
70819155951, 21 +€%)

R
70819155952, 21 ~¢7)

Question Number : 68 Question Id : 70819116931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TEAT f(x) ® [0, 2] X F¥=4 (defined) BV fd&a-10 el (differentiable function) 318, W% HI

f@)=f2-x) ¥4 xe (0,2), f0)=1 M f2)=e2. T ]f{x} dx J e ars.
Options :
70819155949, 1€

2
70819155950, 1 T €

X
70819155951, 21 +¢7)

e
70819155952, 21 ~¢7)



Question Number : 69 Question Id : 70819116932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f be a twice differentiable function defined on R such that f(0)=1, f'(0)=2 and

1fa) @)

fi(x)#0forallx e R. If o £ = (0, for all x € R, then the value of f(1) lies in the
X x

interval :
Options :

©, 3)
70819155953.

3 &
70819155954. )

70819155955. (6 9)

(9, 12)
70819155956.

Question Number : 69 Question Id : 70819116932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TS (& R X Ff¥Ed (defined) BVIR U& S dal [dPhaild B (differentiable function) 3MTE.
fx)  fx)

W9 @ f0)=1, f(0)=2 M f'(x)z0Fd x € REE. R |/ .
' ' ' e &)

— 0,9d x € R 951, oY

f) T @ SA¥Iel (interval) HE 3.
Options :

70819155953. o)

3 6
70819155954. (3, 6)



70819155955, (& %)

(9, 12)
70819155956,

Question Number : 70 Question Id : 70819116933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the curve y= ax>+bx+c, xe R, passes through the point (1, 2) and the tangent line to this
curve at origin is y =x, then the possible values of a, b, c are :
Options :

70819155957, a=1, b=1,¢=0

H.:].r .]'_‘!I:[]r(::l

70819155958.
70819155959, @= — 1, b=1,¢c=1
1 1
a= —, b e 1
2 9
70819155960. 2 2

Question Number : 70 Question Id : 70819116933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

WY y=ax2+bx+c,x € R& a® (1, 2) A1 figas oan anftr sy fig @il = awrEl wf¥ien
EL || (tangent line) y=x e, d¥ a, b, c Al 91 H\?\‘j (possible values) 3ed.

Options :

70819155957, a=1, b=1,¢=0

70819155958, 2=1, b=0, c=1



70819155959, 4~

70819155960.

Question Number : 71 Question Id : 70819116934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If n=2is a positive integer, then the sum of the series
e, +2(2C,+ ¢, + Y0y .+ NGy )is:
Options :
n(n—1)(2n+1)
70819155961, 6

.11{11 F1) (2n + 1)

70819155962. 6

.11(211 +1)(3n +1)

70819155963 6

.n{n I 'ljz{n + 2)

12

70819155964.

Question Number : 71 Question Id : 70819116934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



WY n=2% ¥4 DCPTT_CF (positive integer) e, X HHCE‘FZ[ECE‘F 3":24' 4{:2 Wit HCE]?JIT
FUNl (series) Al X 3.
Options :
n(n —1)(2n+ 1)
70819155961, 6

.n{n +1) (2n + 1)

70819155962. 6

.11(211 +1)(3n +1)

70819155963 6

n(n 1}2(11 +2)
12

70819155964.

Question Number : 72 Question Id : 70819116935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For the system of linear equations :

x—2y=1, x—y+kz=-2, ky+4z=6, ke R,

consider the following statements :

(A) The system has unique solution if k=2, k= —2.

(B) The system has unique solution if k = —2.

(C) The system has unique solution if k=2.

(D) The system has no-solution if k=2.

(E) The system has infinite number of solutions if k= —2.
Which of the following statements are correct ?

Options :



70819155965, ) and (D) only

70819155966, (4) and (E) only

(C) and (D) only
70819155967. !

70819155968, ) and (E) only

Question Number : 72 Question Id : 70819116935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

x—2y=1,x—y+kz=—2, ky+4z=6, ke R T V4T THHA (linear equations) WG],
Glefl feeted faymm=n @R &,

(A) YUIRIEl UhHd Gdhel (unique solution) e O k#2, k# —2.

(B) WUl UehHd Ihel 36 WX k= —2.

(C) YUl Thid Sdhel & WY k=2.
(
(

D) WUleldl 9&d ARl WX k=2.

Options :
70819155965, (&) ST (D) Had

70819155966, (A) ST (E) Had

70819155967, (C) ST (D) Bt

70819155968, (B) SO (E) Ward



Question Number : 73 Question Id : 70819116936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f:R — R be defined as

55x, ifxr<-—>5
f(x) = {2x3— 322 120z, if -5< x<4
2x%- 3x%- 36x — 336,  if x >4,
Let A = {x < R: fis increasing}. Then A is equal to :

Options :

70819155969, (— % —9) W (4 =)

70819155970, (—3, —4) U (4, =)

70819155971, (~ ®- —3) v (—4, =)

70819155972, (2 *)

Question Number : 73 Question Id : 70819116936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

FAGT R — R € MEFd (defined) 3Te.

55x, witx<—b5
f(x) = {223 - 322 120z, WX -5< x<4
2x3— 3x2— 36x — 336, W x > 4,

HGT A = {x e R: fdledl &) T A =M@Y 318,



Options :

70819155969, (— *, —5) W (4, =)

70819155970, (—3 —4) U (4, =)

70819155971, (~ ®, —3) v (—4, =)

70819155972, (2 *)

Question Number : 74 Question Id : 70819116937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

: 1 _1 A3
A pf}ssihlo value of tan( —sin : —] is
- 8

%,

Options :

70819155973, V7

70819155974.

70819155975.

70819155976, 2¥2 — 1

Question Number : 74 Question Id : 70819116937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



tan (iam : J_] o UIFY Heicel T (possible value)

e,
Options :
1
70819155973. “'I'F_
1
242
70819155974. '\E
70819155975. \E .

70819155976, 2¥2 — 1

Question Number : 75 Question Id : 70819116938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The angle of elevation of a jet plane from a point A on the ground is 60°. After a flight of

20 seconds at the speed of 432 km/hour, the angle of elevation changes to 30°. If the jet
plane is flying at a constant height, then its height is

Options :
70819155977, 36003 m

70819155978, 240043 m

! 3
70819155979, LoUUVS m



.
70819155980, 1200¥/3 m

Question Number : 75 Question Id : 70819116938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Tl We [TaHm Sif-Ede §g A TRE 9919 ©F  (angle of elevation) 60° 3TE. 432 f&all
A/ M A1 97 20 Yhe FelcdMaY 9~1d bl 30° AL gSciadl. WY Wic {99 3Fd (constant)
galdY 9ed el OX ol ol HE.

Options :

3600+/3 HTex
70819155977, 2000V

2 ey
70819155978. '400\@

70819155979, 1800v/3 HIeR

70819155980, 1200V3 #1e

Question Number : 76 Question Id : 70819116939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The vector equation of the plane passing through the intersection of the planes
;(; + } + ;:?] — 1 and ;(; - 2}] — — 2, and the point (1, 0, 2) is :

Options :

r-\3i+7j+3k)=7
70819155981,



ri+7+3k)=7

70819155982.
r (_I ?;F'I’HJ=I—
70819155983 3
rli+7j+3k)=21
70819155984 3

Question Number : 76 Question Id : 70819116939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

— _ 2 U Yol BeMEd AT (1, 0, 2) AT T

rli+ jrk)=1afr (i —2F
AT Udelld Hige HH6h v (vector equation) ___ e,
Options :

r\3i+7+3k)=7
70819155981

o |?j|3k]=?
70819155982,

7
70819155983, L

._t

—
|

i, P
Fh]
ol
[l

7
70819155984 3

Question Number : 77 Question Id : 70819116940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

For the statements p and g, consider the following compound statements :
(@ (~q~(p—9q)—=~p

® (PvaA~P) =g

Then which of the following statements is correct ?
Options :
70819155985, (a) is a tautology but not (b).

70819155986, \P) is a tautology but not (a).

70819155087, @ and (b) both are tautologies.

70819155983, (@) and (b) both are not tautologies.

Question Number : 77 Question Id : 70819116940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

p 0T q faeErd!, el foeiedr @4 f@9H=T (compound statements) faaX &1
(@ (~qrlp—q)—~p

b) (v~ r~p)—q

T Grefl fielel S0 fagM a_ER 3 ?
Options :

70819155985, @) & Y (tautology) 378 W (b) .

20819155986, () T SFT (tautology) 3T& WX (a) L.

20819155987, (@) ST (b) T8l SIS (tautology) SHTe.



70819155085, (@) SOV (b) S8 SFFEl (tautology) AN

Question Number : 78 Question Id : 70819116941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If a curve y=f(x) passes through the point (1, 2) and satisfies 1% by = bx*, then for

2
h2
what value of b, Jf{l']‘i"f = ? ?
1
Options :
70819155989. 10
31
5
70819155990.

70819155991, 2

70819155992.

Question Number : 78 Question Id : 70819116941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



W UF 9% y=f(x) & (1, 2) T1 fgHeT TG /A I 1% Fy = bx® T T (satisfies)

2
62
FNT A, TR b =T DIV A, jf(l’lldX=? ?
1
Options :
10
70819155989.
31
5
70819155990.

70819155991, °

70819155992.

Question Number : 79 Question Id : 70819116942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The probability that two randomly selected subsets of the set {1, 2, 3, 4, 5} have exactly two
elements in their intersecton, is :

Options :
65

70819155993, 2

65
2
70819155994,



70819155995. =

r»g]| ]

70819155996.

Question Number : 79 Question Id : 70819116942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
{1,2, 3,4, 5} ¥EMYT AqEfBd Tgd (randomly selected) S SUHT ¥ S G DML

&dcl (exactly) SF HUchidl HHEd @,
Options :

65
70819155993, 2

65

70819155994. =

70819155995. =

r»g]| ]

70819155996.

Question Number : 80 Question Id : 70819116943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The area of the region: R ={(x,y) : 522 = y < 2x2+9} is :

Options :



3 squ it
70819155997, OV3 Square units

70819155998. 93 square units

70819155999. 1143 square units

12 sguare units
70819156000. l"ﬁ 9

Question Number : 80 Question Id : 70819116943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

R={(x y):5x2 <y =< 2x2+9} &3 (region) &P &,
Options :
10819155097, 633 -

70819155998 93 A 1D

9. .'1'1\5 . T

7081915599
70819156000, 1233 . T

Mathematics Section B
Section Id : 708191669
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Number of Questions : 10

Number of Questions to be attempted : 5
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Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191949
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 70819116944 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the variance of 10 natural numbers 1, 1, 1, ..., 1, k is less than 10, then the maximum
possible value of k is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 81 Question Id : 70819116944 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

WY 1,1,1, ..., 1, k 8 ¥l H&id Uarul (variance) 10 Y& &I 2ld, Gk "9 (possible)
RESUEE () B |-

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 82 Question Id : 70819116945 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let a point P be such that its distance from the point (5, 0) is thrice the distance of P from the
point (=5, 0). If the locus of the point P is a circle of radius r, then 4r? is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 82 Question Id : 70819116945 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

WA PUS &g ame. &9 &1 P (5, 0) IR 3fTX (-5, 0) g WA 3iawr=an 3 90 (thrice)
g, WX g Po M9 (locus) U dgje 32 WO ISl r 38, W 42 d Hed 8.

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 83 Question Id : 70819116946 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the area of the triangle formed by the positive x-axis, the normal and the tangent to the
circle (x —2)?>+ (y—3)>=25 at the point (5, 7) is A, then 24A is equal to

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 83 Question Id : 70819116946 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

g x-3&, (x—2)2+ (y—3)>=25 dgarAl (5, 7) U1 f&g@ Fieeiall Ueid (normal) ST wqf¥ieT
(tangent) TiHT TIR Helcdl PV &%hd A 3. ¥ 24A SXEX 3TE.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 84 Question Id : 70819116947 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let i= 1, If{ H ‘;‘i]h | (1+iVB)

(1- i) (1+ i

}2-1-

= k,and n=[|k|] be the greatest integral part

n+o B n+2
of |k|. Then Z’(; +5)° E (j+5)isequalto .
F 5

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 84 Question Id : 70819116947 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

. ok 2
W:‘iﬁ,m[ 0 N('j_; | 14 hﬁj — k, O n=[|k|] & |k| = TeT QOiE 4T
(1 f}“q' (14 :‘}“4
nt5 n+5
. W Y (j+5) - (S WEw I
=0 =0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Question Number : 85 Question Id : 70819116948 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The students 54, S,, ...., Sy are to be divided into 3 groups A, B and C such that each group
has at least one student and the group C has at most 3 students. Then the total number of
possibilities of forming such groups is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5t05.001

Question Number : 85 Question Id : 70819116948 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

S, Sy, -v.r Sy B 10 TaENEN A, B 3101 C &1 3 Tlemed faurTel et 3ed WY &1 Udis TeHel Bk
BT (at least) T fdendl a2 ouft1 C Iemed WEid Wi 3 faendi amed. @R 39 ¢ TR
HIYUYNIST Tl HHT (possibilities) I H&=AT e,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 86 Question Id : 70819116949 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
n) ["C,, ifnzr=z0

For integers n and r, let o :
r 0, otherwise

The maximum value of k for which the sum

(10 15 ) & 12)( 13
Z{} i Mg —i + Z{} i N\ g41—) exists, is equal to
=

J!_

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5t05.001

Question Number : 86 Question Id : 70819116949 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

] (nﬁ"_ *C,, Rnzrz0
Uil n 3107 r AIST, FH rJ 0,  aFgem

k o A&TH el (maximum value) EE{CES  3E, wrErel

2[ 150][!{15;]{2(1{;](& ll? ;J i e

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 87 Question Id : 70819116950 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ifata=1,b+p=2and af(x) 4 n‘_,r"(iJ = bx + E, x # 0, then the value of the expression
= :

X
f(x) ,_rH
X/ is

X +—
x
Response Type : Numeric
Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :
5t05.001

Question Number : 87 Question Id : 70819116950 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

' : flx) + § (—J
l A
x x 1
X +—
X
(expression) el [ e,
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :
510 5.001
Question Number : 88 Question Id : 70819116951 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let A be an integer. If the shortest distance between the lines x —A=2y—1=—2z and
=
. N/ g )
x=y+2h=z—NAis — , then the value of |A|is
22

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 88 Question Id : 70819116951 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

HAGT A QU 38, SR x —A=2y—1=—2z 3 x=y+2A=z— A T IWHHA HAG F 3R

(shortest distance) ExE Ae. a% |A|d fo (! HATE.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 89 Question Id : 70819116952 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

b
The sum of first four terms of a geometric progression (G.P.) is 12 and the sum of their

respective reciprocals is ﬁ [f the product of first three terms of the G.P. is 1, and the third

term is «, then 2o is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :
5to 5.001

Question Number : 89 Question Id : 70819116952 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

o 8 (G.P) A TR TR TR A0 % 3%, ST W AR TSR R (reciprocals)

wm%m TR A A (G.P) = TR A TR TR 181 S AR TF o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 90 Question Id : 70819116953 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of the real roots of the equation (x +1)%+|x—5|=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 90 Question Id : 70819116953 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
s . :
(x+1)2+|x-5 = gl HHIGYUT dR<id Haial (real roots) HET
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001



